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PHILIPS „MINIWATT" 
EC SO EC 5O 

Röhrentype: gasgefüllte Triode zur Erzeugung von 
Kippschwingungen (höchsterreichbare Fre-
quenz etwa 150.000 Hz). 

Type de tube: triode ä remplissage de gaz pour la gene-
ration d'oscillations de relaxation 
(frequente Limite 150.000 cycles env.) 

Type of tube: gasfilled triode for generation of relaxa-
tion oscillations (frequency limit approx. 
150,000 c.p.s.) 

Gasfüllung: ) 
Remplissage de gaz: ) Helium 
Gasfilling: ) . 

Heizung id., Gleich- oder Wechselstrom, 
Parallelspeisung. 
Chauffage id., courant alternatif ou Vf 6,3 V 
coatinu, alimentation en parallele. If 1,3 A 
Heating id., A.C. or D.C., parallel fi-
lament supply. 

Kapazitäten 
Capacites 
Capacities 

Bogenspannung (Löschspannung) 
Tension d'art (tension d'extinction) Varc 33 V 
Arc voltage (extinction voltage) 

Verhältnis zwischen Zündspannung und 
Gitterspannung 
Rapport entre tension d'amorrcage et de 35 
grille 
Control ratio 

Cgk 6,7 p7aF 
Cak 4,2 pPF 
Cag 2,3 141F 
Cgf <1,5 ppF 

Grenzdaten für Verwendung als Kippspannungserzeuger. 
%invites fixees pour lea caracteristiques, utilisation 
comme gSnerateur d'oscillations de relaxation. 
Limiting values for operation in relaxation oscilla-
tion generators. 

Höchster Scheitelwert der Spann.zw.Gitter 
und Anode. 
Valeur max. de la tens. de trete entre la 1500 V 
grille et l'anode 
Max. peak voltage between the grid and 
the anode. 

Höchster Scheitelwert der Spann, zw.Anode 
und Kathode. 
Valeur max, de la tens. de r•rete entre 
l'anode et la cathode 
Max. peak voltage between the anode and 
the cathode 

Höchster Scheitelwert des Anodenstromes 
Valeur max. du courant de trete d'anode 
Max. peak anode current 

1000 V 

750 mAi ~ 
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Höchstwert des mittl. Anodenstr. in 
schwingendem Zustand 
Valeür max. du courant anodique moyen 
ä l'etat oscillant 
Max. mean anode current in oscillating 
condition 

Hö hster Scheitelwert des Gitterstromes 
Valeur max. du courant de trete de la 
grille 
Max. peak grid current 

Höchster Scheitelw.d. Spann, zw. Kathode 
und Heizfaden (Kathode immer positiv gegen 
den Heizfaden) 
Valeur max. de la tension de Crete entre 
cathode et filam. (cathode toujours positive 
par rapport au filament) 
Max. peak voltage between cathode and fila-
ment (cathode always positive with respect 
to filament) 

10 mA 

1,4 mA2)

100 V 

1) Der augenblickliche Bogenstrom muss bis auf diesen 
Wert mittels einem Widerstande, der in die Kathoden-
oder Anodenleitung geschaltet werden kann, beschränkt 
bleiben. Der Wert dieses Widerstandes Ra wird durch 
die max. Spannung amKBngensator bestimmt und muss 
zumindest gleich Ha =  c max  sein, wo Vcl max der 
Scheitelwert der 0,75 spannung am Ladekonden-
sator 1st. 
Le courant d'art momentane dolt etre limitee ä cette 
valeur au moyen d'une resistance inseree dane le con-
ducteur d'anode ou ale la cathode. La valeur de cette 
resistance H$ 'est determinee par la tension,m x au 
condensateur e* sera au meins egale a Ha =  c max 

cu Vc1 max = tension de trete sur le condensa~'~~ 
teur de charge. 
The instantaneous arc current must be limited to 
this value by means of a resistance inserted in the 
anode, or cathode lead. The value of this resistance 
is determined by the max_ Vvoltage on the condenser 
and will at least be Ra 

s 
o1 ~ax , where Vcl max = 

peak voltage on charging 0. condenser. 

2) Für das Bestimmen des max. Gitterstromes gilt, dass 
während dem Durchschlag der Röhre, Gitter, Anode und 
Kathode etwa dasselbe Potential besitzen. Die Röhre 
bildet dann einen Knotenpunkt im Netze der Schaltung. 
Aus den vorhandenenen und nicht durch Kondensatoren 
überbrückten Widerständen folgt dann: der Strom zum 
Gitter. 
In der untenstehenden Schaltung z.B, ist das Gitter-
spannungspotentiometer im tiefsten Stand gleichwertig 
mit einer Spannungsquelle von 1/8 x 300 = 38 V in Be-
zug auf der Minusleitung mit einem Innenwiderstand 
von ca, 0,1 MO. Im Augenblick eines Durchschlages ist 
die Spannung am Gitter + 300 V. Im Gitterkreis ist 
also eine Spannung von 300 - 38 w 262 V wirksam. 
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EC 50 
Diese Spannung ist praktisch gleich der Scheitelspannung. 
Vcl max des Kondensators und liegt an einem Widerstand 
gleich Rg + 

262.103 
100.000 9. Dieser Gesamtwiderstand muss also 

Zumindest ~- - 187.000 4 und Rg desweren 87.000 4 

betragen. Wird das Potentiometer durch einen Kondensator 
02 überbrückt (gestrichelt in der Abb.), so muss der ge-
sammte Widerstand von 187.000 0 in Kg untergebracht wer-
den. Wenn Ra an der Anodenseite geschaltet wird, bleiben 
die Bedingungen dieselbe, denn in dem Falle hat das 
Gitter am Ende der Entladung von Cl eine Spannung von 300 
Volt. Wenn der Anschluss zur Synchronisierungsspanrung 
eine geringe Impedanz in Bezug auf der Minusleitung be-
sitzt, so muss der Schutzwiderstand Rg zwischen Gitter 
und Synchronisierungskl.emme geschaltet werden (Punkt P). 
Der gestricbelte Kondensator 02 kommt dann in Fortfall. 
Unter Umständen kann ein zu grosser Widerstand im Git-
terkreme zu unstabiles Arbeiten Veranlassung geben. 

Pour la determination du courant de grille max, il faut 
faire valoir clue pendant la decharge a travers le tube 
la grille, la cathode et l'anode sont approx. au meme 
potentiel. La tube forme alors un noeud dann le reseau 
du montage. Des resistances presenter at non shuntees 
par des condensateurs il resulte le courant vers la 
grille. 
Dane le schema ci-dessous, par exemple, le potentiometre 
ä la position la plus baase est equivalente a one source 
de tension de 1/8 x300 = 38 V par rapport au conducteur 
negatif ayant une resistance interne de 0,1 MG environ. 
Au moment de la decharge la tension sur la grille est 
egala + 300 V. Dens le circuit de grille une tension de 
300 - 38 s 262 V est done active. Geile tension eat done 
pratiquement egale ä la tension de crete.Vcl max du con-
densateur et se trauve sur one resistance egale ä 
Rg + 100.000 Q. Cette resistance totale dolt par cons-- 

_ .iuent au moans 

cons-
o-

 egale ä 212410  = 18/.000 6 at 

partant Rg = 87.000 6. 
.ivand le potentiometre est shunte par un condensateur 
71 (en pointille sur la fig.) la resistance totale de 
187.000 0 sera oomprise dens Rg. 
.uaod Ra est connecte du cote de l'anode, les conditions 
restent las meines, car dann cc car la grille au bout de 
la decharge de Cl obtient une tension de 300 V. 
uuand la connexion vers la tension de synchronisation 
possede one impedance reduite par rapport au conducteur 
negatif, is resistance de protection Rg sera wise entre 
la grille et la borne de synchronisation (point P). Le 
condensateur Cl en pointille sera alors elimine. 
Gans ¢erteines circonstances une val.eur elevee de la 
resistace dans le circuit de grille conduira a on
fonctionnement instable. 

For the determination of the max. grid current it is 
decisive that during breakdown Borough the tube ti'- anode, 
the grid and the cathode have approx. the same potential. 

30.5.1939 53503 



EC 50 PHILIPS „MINIWATT" 
EC 5O 

The tube them forms a knot in the circuit network. 
From the existing resistances not shunted by condensers 
the current may be deduced. In the circuit indicated 
below, for instance, the grid voltage potentiometer at 
the lowest position is equivalent to a voltage source 
of 1/8 x 300 = 38 volts having an internal resistance-
of approx. 0,1 MO. At the moment of breakdown the vol-
tage on the grid is + 300 volts. In the grid circuit 
thus a voltabo of 300 - 38 = 262 volts is active. This 
voltage is practically equal to the peak voltage Vclmax 
on the condenser and is applied to a resistance of 
Rg + 100.000 a. This total resistance consequent'y 

must be at least equal to 261.4 
3 
= 187,000 Q and Rg 

therefore 87,0!X` 0. 
When 1e potentiometer is shunted by a condenser 02 
(dotted in the fig.) the entire resistance of 187,000 4 
must be comprised in Hg. 
When inserting Pa at the anode side conditions remains 
the same, for in that case the grid obtains at the end 
of the discharge of Cl a voltage of 300 volts. 
When the connection of the synchronising voltage has a 
low impedance to the negative lead, the protective re-
sistance R must be connected between the grid and the 
synchronising terminal (point P). The condenser C2 
shown in dotted lines then must be eliminated. 
Under certain circumstances too high a value bf resis-
tance in the grid circuit may give rise to unstable 
operation. 
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Elektrodenanordnung, 8ockelanschlüsss and max. Abmes-
sungen in mm. 
Disposition des electrodes, connexions du culot et di-
mensions max, en mm. 
Electrode arrangement, base connections and max. di*nen-
sidns in mm. X 43 
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